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V Semester B.co*f;Lrinatio)
QP - 276

2022

(5x2=10)

(3x6=18)

(CBCS) (F+R) (2016 - 17 and Onwards)
GOMMERCE

Paper - 5.2: lnternational Financial Reporting Standards

Max. Marks : 70

lnstruction : Answers should be completely written either in Kannada
or English.

Time : 3 Hours

SECTION _ A

Answer any five of the sub-questions. Each sub-question carries
two marks.

1. a) What is IFRS ?

b) Give two examples to investment property.

c) What is holding company or parent company ?

d) What is the meaning of borrowing cost ?

e) What is current asset ?

f) What is the meaning of key management personnel ?

g) What is earning per share ?

SECTION _ B

Answer any three questions. Each question carries six marks.

2. List any six IFRS issued by IASB.

3. Mention the list of close members of theifamily as per lnd. AS 24.

4. Teja traders purchased a plant from Fl Ltd. 30-9-2015 with a quoted price of
Rs. 200 lakhs. R Ltd. offered a,trade discount of 1.5% and GST payable is 12/o

on the quoted price. Teja traders incurred 2% on transportation cost and 3% on
erection cost of the quotecl price. Pre-operative cost amounted to Rs. 2 lakhs,
Estimated life of the plant is 8 years. Residual value of the plant Rs. 20 lakhs.

i) Calculate the original cost of the plant.

ii) Calculate depreciation for first year (SLM).

S]*,f'5

P.T.O.
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5. Tarun Co. has a machine that originally cost Rs. 35,00,000 with accumulated
depreciation of Rs.5,00,000. The marketvalue of the machine is Rs.30,00,000,
the cost of dismantling is Rs. 1,00,000, and the direct selling costs are

Rs.2,00,000. The value in use as determined by management is Rs.27,50,000.
The remaining estimated life of the machine is 5 years and estimated residual

value at the end of this life is Rs. 2,50,000.

i) Calculate impairment loss for the machine.

ii) Calculate the depreciation charge on the machine after the impairment

loss has been recognised.

6. Prepare a statement of Profit and Loss Account of Sachidanand Company

Limited as on 31.tMarch 2021 as per lnd. AS using Schedule lll of the

Companies Act, 2013.

Particulars
Purchases

Stock of goods on 1-4-2020

Stock of goods on 31 -3-2021

Sales

Depreciation on fixed assets

Preliminary expenses written off

Salaries to the emPloyees

Rent of showroom

lnterest on loan

Discount received from suPPliers

Office expenses

Printing and,stationeries

Carriage outwards '

Advertisement

lncome tax: 40"/" on Profit.

SECTION - C

Answer any three questions. Each Question carries fourteen marks. (3x14=42

7. a) What are the challenges in implementation of IFRS in lndia ?

b) What is interim financial report ? Briefly explain the form and contents

interim financial rePorting.

-2-

Rs.

6,00,000

80,000

90,000

10,00,000

10,000

8,000

19,000

12,000

10,000

5,OOO

2,000

3,000

1,000

1,000
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8. a) Briefly explain the recognition and measurement criteria for provisions as

per lnd. AS 37.

b) What do you mean by research and development expenditure ? Explain

how research and development expenditure is treated as per lnd. AS 38.

9. a) ABC entered into a lease contract on 1 January 2017 tor 5 years, annual

rental payments are Rs. 1,00,000 in arrears (that is, 31 December each

yeafl and at the end of the lease term, the machine will be returned back

to the lessor. The economic life of a machine is 10 years. Use the discount

rale 3/". The present value of lease liability is Rs. 4,57,971. Find out the

lease liability for five years.

b) Following are the information extracted from the books of Pearson Ltd. for

the year ended 31't March 2021

Particulars Amount (t)

Net profit after tax 54,00,000

Exchange differences on translation of Foreign operations 5,90,000

Revaluation gain on land and building 2,03,000

Net loss on cAsh flow hedges 7,57,000

Net loss on Debt Securities measured at FVOCI 1 ,15,000

Remeasurement gain on defined benefit plan 8,08;0OO

Net gain on hedge of a net investment 4,67,000

Prepare a statement of other comprehensive income for the year ended

31't March 2021.
,tl

10. a) Calculate the borrowing cost in the case of Peter Ltd.

i) Rs. 30 crores arranged by 12% p.a. Debentures payable after 10 years,

Rs. 10 crores by 12 years, loan from SBI and Rs. 10 crores form lndian

Bank. The SBI interest rate 14e/o g.a.and lndian Bank interest rate is

16% p.a.

ii) Debentures repayable allO% premium.

iii) The cost of issue of debentures is Rs. 22lakhs.

iv) The service charges for SBI loan 8%.

-3-
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b) From the following Trial Balance of MN Co. Ltd., as at 31-3-2021, prepare
Statement of financial position as per lnd. AS using format given in Schedule ll!
Companies Act of 2013.
Debit

-4-

Plant, Property, Equipment 8,00,000 Share Capital 5,00,000
lntangible assets 3,00,000 Capital redemption
Current investments 1,00,000 reserve 50,000
Other non-current assets 2,00,000 Non-current liabilities 8,00,000
lnventories 90,000 Profit and Loss Account 40,000
Cash and cash equivalents 4,00,000 Current liabilities 6,00,000
Trade receivables 1,00,000
Total 19,90,000 19,90,000

11. a) H Ltd. acquired 60% of the shares of S Ltd. on 01 -7-2020. The following
information available as on 31 -3-2021 in respect of S Ltd.

a) Share capital 1,00,000 shares of Rs. 10 each.

b) General Reserve (on 1-4-2020\ Rs. 80,000

c) Profit and Loss A/c (on 1-4-2020) Rs. 60,000

d) Profit during the year 31-03-2021 Rs. 1 ,00,000.
Calculate thq non-controlling interest.

b) The statement of financial position of K Ltd. and M Ltd. as on 31-03-2021.

Liabilities K Ltd. (Rs.) M Ltd. (Rs.)

Rs. Credit Rs.

4,00,000 1,00,000

1,00,000 40,000

60,000 15,000

2,40,000 2,00,000

40,000 20,000

9,40,000 3,75,000

3,90,000 1,40,000

1,60,000

2,40,000 1,60,000

50,000 75,000

8,40,000 3,75,000

Share Capital : Shares of 100 each

Reserves as on 1-4-2020

Profit and Loss A/c as on 1-4-2020

Profit for the year 
;

Accounts peyable

Total
Assets :

Sundry Assets

lnvestment: Shares in M Ltd. 800 shares

Accounts Receivable

Other current assets
Total
K Ltd. acquired shares in M Ltd. on 1-04-2020. Calculate goodwill or capital
reserve.
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cqnrl - a

doub dezo

.J

i) cJ:o$d dmer d{
ii) d:ade-: ddrd idde eJro*z,od (SLM).

5. dd:ra. doe. z,o& o$odrdQ doood:".add droe.: dei do. 35,00,000, iotid idde
dro. 5, 00, 000. o$ o$a 

-*n 
O3*qam eriao. 30, 00, ooo, Ed3aa*d dqd" 

1, 
oo, o9o,

*Q ded dnoauid{ d". f,OO,ObO. &drdd odrox,dod udd6oo-&d 
{1oop

dk.*27 ,5O,OOO. o3:o$dtru*d erccrarc deeodQo1> 5 ddrrlqb d:* €r XeaendQoJr

drodo$O- eoo?ao eru9d dfaelrdl dro. 2,50,000 ernd.

oindde adr erud-dd/e,l w$0x,. $e wd-$d4ffi odd> eoddddl dooa&$d. (5x2=10)

1. a) IFRS aodde& ?

b) drocd erari add: en:oadddrlddl Oea.

c) dro eo.crf dodD erdan dBedd dodp.rodded: ?

d) edde.:: dqd efrrde$ ?

e) d&d s:, codded: ?

0 ddr$ &drdraa tu%oo codd a$ ?

g) de deod d.:eed ded aodde& ?

aqnrl- zr

oJndoaddra dlJa& ddleri *8or. Bs dqc" ed> erodrlddl dooa&Ed. (3x6=18)

2. IASB Decd olndde er& IFRS erdl duld>a.

3. lnd. AS 24 d d*,d d,:o,rroud edo nd4d drdo$dl we3-esDtu.

4.30-9-2015
ooo$dd1

u3.edcn . R Ltd. &od do. 200 ed dozss.,d ziejCooori-)'---nt' ql

R Ltd. 1.5"/o ddD ara^md oo$Dougob$ OeE$.--eJ --d 
"t

12% GST eruejesDld
eJd{

&eej mdgideanA. dezo @.e"oiidJ eruer-esD:rd deJo$
do.

2% ddD EDori dzJ $$ 3% ddD ildnrea dd qjoioed. oo:nrdd#o$ dBdr dal..eJ6--5-,-.---eJ.--:.-.---'J-"-'_'-j--^-.._'-

drD. 2 i**. Oog# erounrc XeJA ddrrlgb. o$o$d erued dfre.:, do. 20 e.rd*.

doCbac:o:

i) ooo$d* d:ure,r d{dq eJ{4a8.

ii) &ui6do$ d{dJ1 rd*eid dodd od:o$d abeod idde S?dq eid*oat.
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6. doderldDmd 2O13dd4rf ilt edlz^Sxrdood: tnd. AS $aad31 dnzyr 2021 dod
&etudalDR&d nalcndod dod&os e>zJ dr* d{d aodot:d1dohor.
addd$b

$oeOdst>

1-4-2020 docJ: id$rld crDe$
31-3-2021 do& id*dd aanad:

dno-oo,:

&d er,rrdd d:eod idde
udoepd dqldq {, CIq.b"

wdtarenrleri ioud
doededr zmarl

sosd d:eOd ue
a

{pdrdcadood ddd oolrrobg

dzieo d{d$
drdr ab* {eddodd:
J^J 

-J-s)OaJdQ 
^JdfltO

eobemd:

soooJ: dorl: 40% eDu,Jd abed.

dJo.

6,00,000

90,000

90,000

10,00,000.

1o,oo0

9,000

19,000

12,000

10,000

5,000

2,000

3,000

1,000

1,000

Sz&d- r)

cJndeloddo dr./o$ ddJerl w$o,1. dg dd*cl daoau:* erodrlddl
dooD&$d. r! (3x14=42)

7. a) qrDdddO_tFRS erd:aa.ddO-t ianq:dsb dad)d ?

b) ar:4odd deouat's dda .rodde$ ? u$drodd dearaxb ddaor: {dod *e
edo$riddl ior$alan adoxr.

8. a) lnd. AS 37 d $rad ".b€ie))" rb$.BiD.)d rir* erdd dDdd dnddod,ldq
ioEdasaA adori.q'tD

b) iodoedd d:$ ery{,%dqd erSrdedr ? tnd. AS sB d $aad iodoefrd d>d;
erpd% dqdq deri dorteddenrb$d aoarddl ado&.
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dto.

54,00,000
5,90,000
2,03,000
7,57,000
1,15,000
9,08,000
4,67,000

9. a) ABC 1 Bddo 2017 dod:5 ddrridddrl rbgri 
"{od{ 

qidesxrd, an&rd uoBrl

aaCgrisb dra. 1,00,000 rnS (eodd,Eg ddr Eioucf 31) ubt rtgri eldqoC

Aedc$O"d oOo$dd1 rbericmdprl &o3d:Adend:$d, ol:o$d uQrd xedddl

10 ddrrlslc. 3% oo:Dor:e ddddl udl ,t 9ri dodroodol, d&d dPe.r,

de. 4,57,971. ecd> ddrrld ,frgri do#roodo$dl dod:aoaor;o.

b) 31 de d>zrr 2021d* dodrfood ddrd*.lo3lirnie Otudcsod d{drleoa
draddrlo$end dnbeojD €r ddndoed.
er J -l-)".1-c^JcJ9I l\ ,1

dorio$ dodd o{d entf
ades rooJnrziddrld tpmoddd0- o&abc) draori

rioar ab* dgdd d:eOd d:&dPe-:rd>dd e>qJ

drl6b doad d"Sd d>eeJ 0*d d{
FVOClde- erdoioEd:cae"r qJ$ddd C+d d{
aarsg&d qio3oea;n oSoexdoJ:O- d)dJdDdd enqJ

e{d doado$ dq abee3 o{d e>tf

tosrUoa ddrd eaO l*4 ercDc)d deedo$d1 doJnorr.

10. a) &errd Otuu3c"d adds: d4Fq eJ{ooat.

i) dra. 30 droet"l, 10 ddrrld Jodd o-deizJeaod 12Y" p.a. nae;Srt$, do. 10 doen3

SBI pod 12 ddrrld ;oe.: tb* d". 10 doet^3.aoGo$6f zq,of nae-:. SBI ug
dd14Y" p.h. dbt .aoao$o" m,o6' uQdd 160/" p.a.

i i) 1 O% getuo$odO- ab&aad8iud;oad ;oe,rd$rldc.

iii) raeld$dd add#ol, dqdrD. 22 e;{dtb

iv) SBI o"t* deaa $e-r*rldiAZ.

b) MN Co. Ltd. d ddnd mddo.pr:od, 31 -9-2021 dod lnd. AS $rad Fr:*{
&ec:r deedo$d1 doUorr. (J*rr, lll dodOrld roor:d 2013 &edend d*rod
z^ld,t ). !,Debit ''' dJo. Credit dro'

s:,. mdd abd: de;dd# 8,00,000 de& uodaad 5,00,000
_g' O J

eld:roJr {*,{*1, 3,00,000 uodarod adoea3d

digd Aoadrtst 1,0o,Ooo &:eio 50,000

rdo z:ogo:r%d {*,ls 2,oo,oo0 d&dd%d do#roodrisb 8,00,000

oa4$dd.: 9O,OO0 sDqJ ab* d{d and 40,000

drlct 4,00,000 d&d do#rnodrlsb 6,00,000

auoraadd drnd: 1,00,000

r-q 19,90,000 19,90,000
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1 1 . a) 01-7-2020 docb, S Ltd. d 60% dr&rtddlH Ltd. saoQeddardooas. 31-0-2021 dod,

S Ltd. ri iouoQtud €r ddnd drDbg e;drad.

a) de& uodaad 1 ,00,000 de$ddr de> do. 10 d.a deori.

b) sadnd, a:edq: (1-4-2020 docb) dro. BO,0OO

c) enzJ ab* d{ aod (1-4-2020 doub) dlo. 60,000

d) 1-4-2020&od 31-03-2021 d ddrd err?oj dra. 1 ,0O,OOO.

CIoJro$ead%d dd-q dro*zod dna.

b) 31 -03-2121dod K Ltd. ab$ M Ltd. d sQrd aeoj, deed.

dadrnofrl$
de& uodaad: den 100 dedcrlsb

1 - 4 -2020d0d sadnd, a:eie.r>

1-4-2020d0d e>qJ d:Q d{ and

2020-21de saori enqJ

aadgizieuod andrlsb

?-t3)
eJ

dptr$:
ead {*dst, i

doad: M Ltd. dO;i de$rl$b 800 de$rld,:

ledoiud:end andrigb

K Ltd. (dJo.)

4,00,000

1,00,000

60,000

2,40,000

40,000

9,40,000

3,90,000

1,60,000

2,40,000

50,000

8,40,000

M Ltd. (d.Jo.)

1,00,000

40,000

15,000

2,00,000

20,000

3,75,000

1,40,000

1,60,000

75,000

3,75,000

udd $rgd **,t*t,
?.t3)

gJ

K Ltd. 1-04-2}20docb M Ltd.d ded:ddd1 sooeeddaxrdooa$. iooad>d dod
erda-o uodoad'Ateiel eJua*zlod dna.
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GS-490 ++
VI Semester B.Com. Examination, May/June - 2019

ELECTIVE PAPER . IV
6.6 z Accounting for Business Decisions & Reporting

(IFRS) (Repeaters) (2OI4-15 & Onwards)
Time : 3 Hours Max. Marks : 100
Instntctions to Ca;ndidates :
Ansuter should be in completelg either English or Kannada.

s?p"il - a /sEcrroN-A
1. o3mQ;eoddn d{ wd-dd*,je,i w{ol. 5ie wd-@dorl ad& sroddg0. t0x2=20

Answer any ten of the following sub-questions. Each sub-question carries
two marks. i

(a) tredood uo{ddl* 6rossrod0tu.

Define Marginal Costing.
(b) IASB d)d) GAAP 6b4 .)iOA.

Expand GAAP and IASB
(c) droild dd, Oo$o9,roddon ;oeoa:e"cll.

Define Budgetory Control.
td) d,so$doddei; ?

What is Variancc ?

(e) elq: d*aro silmd 40% d*0, i;rol',: ? 1,00,000 a3:E td dzir <20,000
vic e;: Fi&+ dce*&cGostO.
Find Profit. When P/V Ratio 4Aoh, Sales { 1,00,000, Fixed Cost
T 20,000.

(f) ddcb il;:odd o$odcnddo odc: w-doioedi'i9ob, e9tu.

State any two uses of cash budget.
(g) IFRS ooddeio ?

What is IFRS ?
(h) droro$ d:.ldoi:air, oiiodr eruiloioeflirsld Z

Who are all the users of Financial Statement ?
(i) 8""drdo$iD. doqdaicd .lqedil;, g{l0.

How do you improve the contribution ?

u) iD)oiid dgtcbd l^J."es.0&.

Define Budget"

{k) 8d"tu6 dro6o-^n ;dOwi uFr l(G.
Give the meaning of Corporate Financial Reporting.

(l) :,ed;lod df,# (gceb,rg) oo.oei; ?

What is Margin ol Safety ?

P.T.O.
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ofn{ooddn ooerl

Answer any four
marks.

n

earod _ z1 lsEcTroN _ B

dd{deri erDgor.J. Ee dddrl ooub erodiigc.
of the foliowing questions. Each question

3.

2. eddq.aogd w{edd$s), .)do&.
ExplaJn the objectives of Standard Costing.

d9nddderl $qrd t,,rdcc)o :

(a) do€d

(b) Eeab.)lE

(c) ddci) d::odddgi
(d) iair :6e a)oci)

Write short note on the follo,*.ing :

(a) Contribution
(b) Margin of Safety
(c) Cash budget
(d) Break even point

4. 89nd

(a)

(b)

(c)

da&8d$c dod&ri roz,JoeArd.

fuddd
nan A6e *ouj: (BEp)

rcQl. s

7,00,000

8,O0,OOO

T 40,000
Total Cost {t}
5,50,000
6,00,000

{ 40,000 enzfrigde.:l errldramd dooot:
edQ ?"ule dxooo[^i (g s"ag d?d $
2018

2,O19

From the following data relating to
(a) Amount of Fixed Cost
(b) Break even point
(c) Sales required to earn a profit

, Period Total Sales {{t
2019 7,00,000
2019 g,oo,ooo

5,50,000

6,00,000

a Compaly Calculate :

4x8=82

carries Eight

i ililil tiltil lil ililt fiil] tilt lill
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5. dr'q, *2" u6bo woc6ie.l, A{ d.raOdd t2 kg, 6E EeXd
;roai:rlfrst, dB dedd f z.
doc4lfoGosro :

(a) xio*bg dai" ildedc$
(bi soi;-R eJSd ddgdoi)
ii- i I.:"- ^., i ;; ;_,9.O;' );
The stanclard merterial requirement {br product Z( i--- 1;r-,r l.;g. Tire ar:tual consumption ol material
product" Z u.as i4 kgs at the rate of T 7 per kg.
Calcr-rl:: i,, :

(a) lf :i:cnal Cost Variance
{ir) },,Ii, i.ri.ill 1,,'szrge Variance
(c) ivlatenai Prjce Variance

cs-490

< 6, dae eJgE t4 kg

6. ilil;t ;l,,-i--riir;g,i-i, ;dS gofrSd doJJDOA. sioor 1 dccj;
r 60,000

is 12 kgs at the rate of
for the manufacture of

arouoSd$dtd diid)

' 
droO (g
6,000
6,000
6,000
5,000

Borl*.>

agef
d:e
ry ^-f(al9o,,

ry raQ*-uJ
dnocmrdt :

d:ooot"l (Q
1,00,000

80,000
90,000

1,20,000

*n$c*ad (Q
42,OOO

42,OOO

40,000
40,000

ili .1ii:", iJri r;ru:s.ld iildJ eru9d d;eooed, 2 gofrsb mddod,aae-r Oedenhd.
i2i ';rri.;,,:?,-;;'J: I gcilVJ aoe; &eGesDd

{lii ts:iOoa a"rilg.;) ycgd a,cci Soilgc
x;if ;i.i;. ;1, Jcilrid dil;t d;:oddCd, do$DOA.-:j-
Pt'cp.rrl'.a c:rrrii budgct for two months commencing 1st June. when thelJ,,r):i( i-' :ltiitri(- ,r ;rs { 6(),000

]Mcsrhs Sales {t} purchase {() Wages (t}Al;":i 1,00,000 42,OOO 6,000ivia}., 80,000 42,OOO O,OOO
.-Iir r;r 90,000 40,000 O,OOO,luiy 1,20,000 40,000 S,OOOAdjustment :

{li 4iltr'o tll tirc sales are on cash basis, customers are allowed 2 monthst.tii'iiir

t2)' Si,il.ri:lir:l- iilior.v one month credit
(3) Lcl.: i:: 1-:iri,.incnt. of wages 1 month
Prup;,iic c:.il:i) ilii. .lunc ancl July.

P.T.O.
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*E,Gn * 4ISECTION-C
oJJ66aEje6 gJ dVnd ilrodr **r.i.n;d w-U^OA. dec3ndq SDmd: ucdfiqJ 16x3=4g*n J d
Answer amlv tlas'ee of the loilorving questions. Each question carries sixteen
rnarl<s.

e--r)*)*--.r- aiC _LI . 5v{}s-qji iV.;J (/? d,"-i :

(a) frilD ,rdg zlcd: ({) (BtrP)
(b) uo$--#aoes Ed;orc srbmo3
(c) *e*btus
td) T 1,50,000 e:ezfd9dd Ccr-od;i fr;aine.l
/^\ \<*- #J-J-J ^.J--J-A J^?r-- q^:J
(e ] k)Oe"5J ild$F rlV aJkirdrU}") crir-ir^J:,,J. 9!-a,
(f) { 10,CICI,000 d;acot;aoord a..oC me,J;;to ?

dodDaj: d:o&:iJ :

d*r"' #r"6?t.J (tl a"o.g d{ (<}

2018 1 1,00,000 10,50,000
2419 14,00,000 1"2,50,000

From the following particulars ca-lculate :

(a) Brcak even point
(b) F/V Ratio
(c) Margin of Safety
(d) Sales req'o;ired to earn a prcfit of { i,50,000
(e) Variable Ccst for two years
(f) Frofit when sales are { 10,00,000
eer:rpamy Information :

Year Sales {t} Total eost {{}
20i8 11,00,000 10,50,000
2019 14,00,000 12,50,000 e

d3 erudd,t,* c(u

50
2A

15

10

zudexfl:;J dueex CCddr
u

,t6d duee.:t dq (50,000)
udgood"d dz{ (alzs:rfr#o) (sCI% udend:d) 10

dmoot3 slz.3:;'dfo gA% d#g udu'odd) 06
doesdoS: a-te3:r-dv,: {6A% dCo a;dend#) CIs

o *:r -P"l-""Y *?J 1i6

e,rudd, 8,000 dtdl 7,000 vud$*d# dr:odd dg doiroo,tu.

S. u,od) 6o,eioF.do3:) 5,000 erod$*fr9d r*ipd dz$frii:o Oedenfld :

tusJU{15rJ

^JUeJ.rL_!)

c ^61NUV



The e4penses for the
Particulars
Material
Labour

Variable Overheads

Prepare a budget for

9. 6nabd doil&ob ajjo&e

0ddd9:
-.?--..c^lruUOgJ

x6d ubew dz$

s,Jde:Dd a3reel ded

ded doO

ded (roeb!.dsb)

I Iililil iltff Iil tilil lilll illt lilt

Fixed Overhead (50,000)
Administrative Expenses (50% variable)
Selling expenses (4O% variable)
Distribution expenses (6O% variable)

GS-490
production of S,OOO units in factory are given as follows :

Arnount per unit
'50

20

I5
10

10

o6

o5

FTotal Cost

the production of g,0OO and 7,000 Units.

$ dddodod .ad.

d"g ro
12,00,000

1,50,000

2,50,000

1,20,000

90,000
abeoil dJa&., er*?dd abeei nab 

ets df,o$ drne.:d Bdb A6.9 aocbdi,r4 dod>&6ocoo.

The foll0wing figures obtained from records of MAMATHA Ltd.particulars 
Amount le

Sales
12,00,00o

Fixed Overhead 1,50,000
Variable Overhead 

2,SO,0OO
Dirfct Wages 

I,2O,OO0
Direct Materials gO,0O0
From the above figure determine tsEp using Break even chart.

P.T.o.

--,-_-r--
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10. *Sdod oodilq;b 48 ooeddele
isD&go3:d\o,$jixoodod 6r Oeg

6

C:tfiiCeaoo /r:c;i:
'dqj{,}J :J

Eoida1:* 50 omdilSe2 tDnncrond. e6dgi"p. Eod,bGo$;O.
(a) 5-o;ri6 d€ rrgjoJr
(b) 6"iDrd .id d"d"oi)
(c) aoc)lFd ddd 5jgjoJ)
(d) m,^1ord ec$eo ;rddqir
The information regarding
force engaged on a job.
follows :

composition and
Scheduled to be

the weekly wage
completed in 4B

rates of iabour
weeks are as

The
(a)
(b)
(c)

(d)

work was completed in 50 weeks, Calculate.
Labour cost variance
Labour rate variance
Labour efficiency variance
Labour mix-variancc

-oOo-

I iilril tilil lil ililr ltfl tilt fft
-i---?- * )) --;Js)- c ;tuiIv 6.co ;dii-c-lJ

tc,:inocb

B.+gC^{s ilEr^aE id,uJ)

*oinrdd ioa3,
8e.:inodd

ioa;$ *dt te.:inadd ioe3,
*arJ-rJsrn{t99N)

?an.c',1 
-*9

,wqJt/ $Jglrq
n

&ds"d m&rrd
U

130 110 140 150
eo-&5e3; dDD)rd 90 90 BO 100
J):?.. -.2s J 

-o.--J\)-\r\r^ \J@\9 OrrI]iF O
a 110 50 110 30

Labour

Standard Actual

No. of workers
Weekly
wage

per worker
No. of workers

Uleekly
wage

per labour
Skilled 130 110 140 150

Semi-skilled 90 90 80 100
Unskilled 110 50 110 30
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V Semester B.Com. Examination, March/April 2021 
(CBCS) (F+R) (2016-17 and Onwards) 

COMMERCE 
5.2: International Financial Reporting Standards 

Time:3 Hours Max. Marks : 70 

Instruction: Answers should be completely written either in Kannada 

or English. 

SECTION- A 

Answer any five of the sub-questions. Each sub-question carries 2 marks :(5x2=10) 

1. a) What are Accounting Standards? 

dodoeG dnsdorisb soddeab? 
b) Expand IASC and SICs. 

IASC a SICs sonsa oroa 
c) What is an Investment Property as per Ind AS-40 ? 

Ind AS-40 dgnd aead x oddeb?
d) State the meaning of residual value. 

aRA 

e) Give the meaning of lease as per Ind AS 17. 

Ind AS 17dd rbeiod esgrs 39%. 
f) What is unrealized profit ? 

g) What do you mean by impairment of Asset ? 

SECTION - B 

Answer any three questions. Each question carries 6 marks (3x6-18)

2. Explain the merits of IFRS. 

IFRS eabdoonis)osOA 
P.T.O. 
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3. Evaluate the requirements and disclosure of EPS under Ind AS 33. 

Ind AS 33 deaao EPS dusrsb ab td zsurdosoaur wOA 

4. XYZ Ltd. has taken a loan of US$ 20,000 on April 1, 2019 for a specific project at 

an interest rate of 5% p.a., payable annually. On April 1, 2019, the exchange rate 

between the currencies was 7 70 per US$. The exchange rate, as at March 31, 
2020, is 73 per US$. Required: Calculate the amount of exchange difference 

arising from foreign currency borrowings to the extent that they are regarded as 

an adjustment to interest costs, if the corresponding amount could have been 
borrowed by XYZ Ltd. in local currency at an interest rate of (a) 11% p.a. and 

(b) 13% p.a. as on April 1, 2019 

XYZ Ltd., 1 o 2019 dotb 20,000 sbeosa aoo rd AFd de. 5 dua 
o wo es oioruiriodo DO dsode. as 1,2019 dotb ddb dere 
TDD DsbodD to od esssbrodaoOTR 70 dod DobasoNd. 31 o3F 

2020 dob Törie sdboT DTabot dda) worb wooR R 73 dod agodbapn. adi 
bribeoosod dodoa XYZ Ov3ca zoeodb sdHadO (a) oAFT de. 11 d (b) 

DF S. 13 d docde Jddeo assodo aded Fo) TDnVos ewoesoribas DRboD

5. ABC Ltd. purchased a plan from PQR Ltd., on 15-7-2019 with an estimated price 
of 75,000. The supplier offers 3 months credit with a condition that discount 

of 1.5% will be given if the payments were made within one month. GST is 

charged on the estimated price. GST should include the Swach Bharath cess 

and the Krishi Kalyan cess.

The company incurred 2% on transportation costs and 3% on the establishment 
costs of the estimated price. To finance the machinery's purchase, the company

took a loan of 50,000 at an interest rate of 14.50% p.a. The machine was 

ready for use on 3-5-2020. Ascertain the original cost. 

15-7-2019 doo ABC ODDeia dutb PQR O3D8` daddod 2odb osbodecastdroaa 
os 75,000 od 9dedADd. 2%03 Boriosri 3Dserisa dnadd 1.5% 
ooDobs rdoorba)d aow ddasoodi TöJoDUDTdS 3 &orie pea Dedbap 

Beos. oDO idOD 2% MOrR Saba 3% TD 3ieogd. adboae rtdrori 

DoeD pde), Todiodo aDAFT wadd se. 14.50 dos R50,000 O Ttidoiao@d. 
3-5-2020 dodb adboz eëR Arbandö abozd shne dordo&»ao0Do.
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6. Following is the ledger extract of SVR Ltd., for the year ending 31-3-2019, prepare 
a statement of Profit or loss as per the schedule ll of Companies Act, 2013.

Particulars Amount in 

Revenue from operations 49,000 
Rent received 1,000 

Advertising and publicity 2,625 

Salaries and allowances 13,500 

Depreciation 1,400 
Insurance premium paid 500 

Interest on debentures 500 

Discount allowed 250 

Discount received 250 

Preliminary expenses written off 500 

Printing and stationery 500 

Cost of Material consumed 12,500 

31-3-2019doab SVR ODLiTo dasd sDD DzTdaascrisb senao8s. Tdo ao»sadbab 
envadadoena dozso moboi 2013d side ld adod en a, sndobb dadnoA 

wers () 

49,000

1,000 
2,625 

13,500 
1,400 

500 

500 
2083 Roea 250 

250 

500 

500 

12,500 
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SECTION-C 

(3x14-42) 
Answer any three questions. Each question carries fourteen marks: 

7. a) What are assumptions of IFRS ? Explain the features of IFRS.

b) Give the entire list of IFRS issued by IASSB. 

a) IFRS #esrivoaa) ? IFRS Tocorieab odo 
b) IASB a#esAdbas IFRS nea a. 

8. a) What is interim financial reporting ? Explain the disclosure requirements.

b) Explain the scope and disclosure requirements of Ind AS 38- Intangible assets. 

a) odd drosoxb soo sotdöeab ? add addirico essessrisDD? 
b) Ind AS 38 deaod eePT Tprid ma abah astssaodb edsriea aTO 

9. a) A Ltd., has taken a machinery on lease from B Ltd. The information is as under: 

Lease term -4 years 
Fair value at inception of lease - 7 20,00,000 

Lease rent - 7 6,25,000 p.a. at the end of year 

Guaranteed Residual Value - 7 1,25,000 

Expected Residual Value - 7 3,75,000 

Implicit interest rate- 15% 
Discounted rates for 1st year, 2nd year, 3rd year and 4th year are 0.8696, 

0.7561, 0.6575 and 0.5718 respectively.

Calculate the value of the lease liability as per Ind AS 17. 

b) SQL Ltd., constructing a solar plant. The project requires in total 6 crores, 

which are raised as below:

i)6 crores of loan from ICICI Bank for 5 years at the rate of 6.5% interest.

i)73 crore of loan from HSBC bank for 3 years at the rate of 5% interest. 

ii) 7 3 crore of loan from IOB for 4 years at 12% rate of interest. 

iv) 4.5 crores from 8% debentures for 5 years at 5% discount. 

v3 crore as overdraft from SBI at 4% interest rate.

vi) Out of the total barrowings 7.5 crores are kept in HDFC bank as term 

deposit for 6 months at 5% rate of interest. 

vii) ICICI bank loan is barrowed through consultation and the consultancy 
charges are 2% of the total loan amount.

You are required to calculate borrowing cost in accordance with Ind AS 23. 
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a) A Ltd., B Ltd. Ootdrugrivi cdbodn cddroreah dridbénoatd dnisodo dortoeci: 

rber esas - 4 Jadieb 

rbeiadb a,doje), oodbbd axD)- 7 20,00,000 

3a3Fioodb rbgri nai de ddr - 6,25,000 

wDJd eveo - 1,25,000
Dee3eve Te-R 3,75,000
o wado- 15% 

acdpod dorsb - dndose dadF 0.8696, drzie Jdr 0.7561, bode 

ad - 0.6575 dbe mese dods - 0.5718. 
Ind As 17d esaobd raern äorimoicdb adeda d m. 

b) sQL 6ts", Dd sod ar reah iigdooa, odoeusiri dephd 
6 Bes domodbri¥a) 5 dens aooervod doode d»ainoad: 

i)R6 doesad ICICI oo8dod 5 dedrid espi wa dd de. 6.5to3 DO 

rsbiooad
i) R 3 aocsodo HSBC o8oc3 ddrrid esoi wa dd Se. 5 do3 me 

srsbicoad. 

C 

ii) 3 doee3odbb lOB o8od 4 Jarie sdoi wa do de. 12 Tos TDO 

adbiooas
iv) 7 4.5 doesiodbao 3e. 8 ddod aioso Dos ra 5 dadFrieri se. 5 

oopco3 tdodo dddbäooad. 
v) 73 &ocsodbab SBl3istay, amodd de. 4 ados asidbänoa 
vi) 3 de astsd prido R 7.5 doetsrisap HDFC po8 nQat 

oeedodn 6 8orie b&srî Se. 5 dwa dot) aOTODrbE. 

oo et ao, DOd BeS Se. 2 dod sbe aors antsticsond. 

Ind AS 230 sao), sdse imesaos adna. 
10. a) From the following Balances of MN Co. Ltd., as on 31-3-2020 prepare a 

statement of Profit or Loss as per the Schedule Ill of Indian Companies 
Act, 2013.

Particulars Amount in 
Opening stock 1,50,000 
Purchases 4,30,000

14,000Discount 
Bad Debts 12,000 
Delivery Van expenses 10,000
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74,800
30,000 

Interest on debentures 

Travelling expenses

Freight Charges
Depreciation 
Insurance 

16,000 
25,000 
10,000 

15,000 Commission received 
13,00,0000 

10,000 
Sales 
Share transfer fee 

b) From the following Trial Balance of Jinx Ltd., prepare statement of financial 

position of the company as on 31-3-2020 
Amount (R) Credit 

75,000 Equity share capital 
50,000 Reserves and surplus 

Amount () 
1,25,000 

Debit 

Cash at bank 
Non current assets 25,000 

urrent investments 25,000 Non current liabilities 

Land and buildings 
Furniture 

2,00,000
50,000

50,000 

50,000 

Nor 
2,00,000 Current liabilities 

50,000 Staff provident fund 
25,000 Deposits from public
50,000 Preference capital

Office equipment 
Goodwill 1,25,000 

1,00,000 
50,000 

6,25,000 Total 

Stock 
Debtors 
Total 6,25,000 

a) 31-3-2020 doo MN Co. Ltd. dsd adasod adonsb öenaosa. 2013 touho 

ers () 
1,50,000 
4,30,000 

14,000 

12,000 
10,000 
74,800 
30,000 
16,000 
25,000 
10,000 
15,000 

13,00,0000 
10,000 
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b) Jinx Ltd., 31-3-2020 d s¢h DDdrD TbdorossngOA Ttoso75 0 

Debit erb () Credit wers () 

75,000 Tn adedb wotdaos 

50,000 oeTeD dT evGDD 
1,25,000 

25,000

25,000 Ôabed adezOd doriroo6rkb 2,00,000 

2,00,000 250 iorsrpoins 
50,000 Atyod io 

50,000 

&edorsdeorieb 50,000

scied aedoedsdrorieb 25,000 Tsrodd deadeories 50,000 

50,000 sdo rd wo3D 1,25,000

1,00,000

50,000 

6,25,000 a) 6,25,000

11. a) H Company Ltd., acquired 2,000 equity shares of S company Ltd., as on 

1st April 2019. The following are the Balance Sheet of the two companies as 

on 31-3-2020: 
Assets H. Ltd. R S Ltd. 
Land and Buildings 3,75,000 3,37,500 
Investments: Shares of S Ltd. 3,75,000 
Sundry Debtors 37,500 45,000 

Inventories 56,250 37,500

B/R 30,000 3,750 

Cash 1,87,500 1,20,000 
Total 10,61,250 5,43,750 
Equity and Liabilities H Ltd. S Ltd. 

Equity share capital (F 100) 

General Reserves (1-4-2019) 

7,50,000 3,75,000 

1,50,000 75,000

37,500 22,500 P/L a/c (1-4-2019) 
Profit during the year (2019-20) 75,000 30,000 

Sundry creditors 48,750 41,250 

Total 10,61,250 5,43,750 

Calculate NCI and Goodwil/Capital Reserve. 
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b) The following are the Balance Sheet of R Ltd., and S Ltd., as on 31-3-2020. 
Assets R Ltd. T S Ltd.7

5,60,000Plant and Machinery 
Investments: shares of S Ltd. (30,000 shares) 
Current Assets 
Total 

4,00,000
4,00,000
3,80,000 2,20,000 

7,80,000 11,80,000D 
Profit and Loss A/c of S Ltd. Stood at 7 60,000 on 1-4-2019. R Ltd., acquired
shares ofS Lid., on 1-1-2020. You are required to calculate the Controling 
Interest. 

a) H #oacos S doan oaoss ot 1-4-2019 docb 2000 an co 
R9EaTA: 31-3-2020 docs stdb Bcaorid s aba aoIDOBTIS 

H.Ltd. T S Ltd. 

3,75,000 3,37,500 

eare: S OAatadsiedories 3,75,000

37,500 45,000 

56,250 37,500 
30,000 3,750 

1,87,500 1,20,000 

10,61,250 5,43,750 
H Ltd. S Ltd. 

3,75,000z eto wczne (R 100) 
R Fes (1-4-2019) 

- Rd (1-4-2019) 

(2019-20) 

7,50,000

1,50,000 75,000 

37,500 22,500 
75,000 30,000 

48,750 41,250 

10,61,250 5,43,750 

b) 31-3-2020 dob R Ltd. doa S Ltd. 3e aro dArDOS Jieb dshsods: 

S Ltd. R Ltd. 
4,00,000 5,60,000 cbcde aedeersb 

anasre: S Ltd. 330,000 er ietbrieb 4,00,000 

3,80,000 2,20,000 

11,80,000 7,80,000

S Ltd. yd bey 1-4-2019 Toto 60,000 n 1-1-2020 dods S Ltd. 3 

rdorie sbeDnd. Dadboz.rodqvasabs ad dozz>toacavo. 
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GN.3+L M1.64832
V Semester B.Com. Examination, December - 2OL9

(CBCS) (F+R) (2O16-L7 and Onwards)

COMMERCE

Paper i 5.2 International Financial Reporting Standards

Time : 3 Hours Max. Marks: 7O

Insttttctlon : Ansuter should be completelg either in Kannq.da or Dnglislt-

eryod alsEcTIoN-A
1. oim$ooddo adr erud-Eiddderl w{on. gie wd-${ito ad& erodrls;,b. 5x2=1O

Answer 4py five sub-questions. Each sub-question carries two marks.

(a) IFRS d .rdd: w{edd#d:, 394.

Mention any two objectives of IFRS.

Ind AS-2 d 5i,ad idd: aodded: ?

What are Inventories as per Ind AS-2 ?

EPS acCde$ ?

What is EPS ?

iaoro u.toad oodded: ?

What is meant by Government Grants ?

(e) epeddgd sryi$ o3odemddo oae"l* eruoadddrls$+ EroA.

Mention any four examples of Intangible Assets.

(b)

(c)

(d)

(f) rASB d)d) GAAP ddilS$d &do,$.

Expand IASB & GAAP.

edd soco3:C olndooddo add: sr;mdddrlg${ ee:l.

Mention any two items of other Income.

(g)

P.T.O.
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aryorl - e&/sEcJIoN-B

I lllill llllll lll lllll lllll llll llll

3x6=18oio$ooddo dlJo& dd4rlgri w{on. dg ddnrb erd> seodilq;b.

Answer any three questions. Each question carries six marks.

of

2. IFRS d erd: eroDd)d'oe-:rl$d:o iofldaon adorl.

Briefly explain six limitations of IFRS.

3. d:froodd deoro* ddo oodde$ ? qdd ea e^:d>d de* QDrid$$* diol.
What is Interim Financial Report ? Mention the minimum components
Interim financial rePort.

4. dr dsdod drobEoccod, dod& BDd)d 2OL3 d Sieod end dd amdo3:dr* dgJDotu.

31.03.2019 d drobe

aDdmd6od a;od eseDo$

ioz:$ c:dl dd6

e3es)d nodo0rt$
oeryordQ me;d dleOd a;Q

irr izl qlcirew.@vvw ry@(

U-;p ;$ Dgd
AJ

6q1) + ^64dw dg\w
e-l

idde
smGri smo3)

,Frgm the following prepare a statement of profit or loss for the year ended

31.03.2019 as per;Companies Act, 2013'

Revenue from oPeration

Salaries & Allowances
Stationery
Interest on long term loans

Publicity
Raw material consumed
Discount Allowed
Depreciation
Rent Received

.,( l,
12,00,O00

1,40,000

30;000

50,000

80,000

2,2O,OOO:.
20,000

20,000

80,000

,'(
12;OO,OOO

1,4O,OOO

30,000
50,O0o

80,OO0

2?2O,OOO

20,000
20,ooo
80,000
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eBdEd e"Sddd &m${o3:d:* dod>&6coo.
H Ltd. acquired 6O% shares of S Ltd. on OL.O7 .2018. The following information
is available as on 31.03.2OL9 in respect of S Ltd.
(a) Share Capital : 1,00,000 equlty shares of ( 1O each.
(b) General Reserwe as on 01.04.2018 - < 8O,OOO.

(c) P & L A/c balance (Cr.) on 01.04.2OL8 - < 60,000
(d) Net profit for the year ended 31.03.2019 - < 1,OO,OOO.

Calculate non-controlling interest.

6. T O.)rtscso dodooJr s,od) EDeddd dr.oe.: aieJ T 9,60,000 d)dJ doe3d Bddq
<96,000. .adoood> dodCIoJu "ade oego$ xgddd$o<3,8o,oooE* docno3 dm@d
$6 dmoo^ld $air t 35,OOO d$d qJotud. erded &odgoto * r'6ddd erudoSoerld

deJo$S4 <4,1O,OOOood OdQ dGftd.
cPure.rrd d{ dod:&Aocoo.
T Ltd.-has a plant whose original cost is < 9,60,000 and accumulated
depreciation amounted { 96,000 Another company sold a similar plant for
< 3,8O,OOO & the selling e><penditure amounted to < 35,000. The Management
has determined the value in use of the plant of T 4,10,000.
Calculate the Impairment Loss.

a?pod - PI/SDCTION-C
ob$ood&o *uo& d8feri eruqo$. dg d{rfo dAFoE% eodrl$b. 3tr14=42
Answer any three questions. Each question carries foutteen marks.

7. (a) IFRS ed:qdde] s"drbd il3o3oend daae.:rrl9d:o edo$.
Briefly explain practical challenges in implementing IFRS.

(b) IFRS d Odo$g eOedarorbd Bodedrde] wooorbd erudCperlrl$$o edo&.
Briefly explain the benefits of achieving convergence with IFRS.

8. (a) oJo{oodd,o 14 iND AS ds$4 diOXr.

List any fourteen IND AS.

(bl Ouoddriejr ioeidOeo$ er1 & e;dasx*orl$b Ind AS-37 d elao$S abdorl
daxbeEo$ oeJoddd$$o Bo${amR ado:).
Briefly Explain the disclosure of provisions under Ind AS-37, provisions,
Contingent assets & Contingent Liabilities.

ililti

5.

cN-341

H Otue,3c6 dodOoix S Otut36r dodDo$ de. 6o qrorl de&r19$4 01.07.2018 doct:
$oe6tud" 31.03.2019 dod; S Oec€3c" dod0oJ: dmbe 6r oe8 .ad.

deodod; dedcds;b.de& a^loda?$ 1,00,000 (< 10 d.B
road;od, 0Q 01.04.2018 dod: T 8O,0OO.

01.O4.2O18 dod croqJd Eo:* { 60,000
31.03.2019 ddrd 0{S en$ < 1,00,000.

(a)

(b)

(c)

(d)

P.T.O.
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(b)

I il]ilt ilil ilt tiilt tilt illt lllt

T CIirdef dcdDoJ:: ddu ryrydao #BdEd a,oC o3:o$d$n < 2,20,000 d?d
;j;,G ${:eei,d SE * ddCg csT ( 39,600 d"q{e deod. dodadl
iaixbfrs o;ooor,.:c il$o"c d:eej dori mc8 codrd dedd:e * csr dradLlrN--
:*.--,-9 J;)u;!;/ i,)9, )i,(J.

qEd $z$ril$ 6r Deg "ad:
rmd# rooDfi t 4,5OOl-
d{t{, xi-.e* T 4,OAOl-
e*S&ii $e3:s- < 3,000/-
d;i:tr* ;;fr-o dodmesd eoooeo d{ < 1,500/-
o:-.og$;i:. wdo,l,oedE* u*dex,d abed zfO,ld ?iA qnrlrlg ,#, dz$,< 11,000/-
Ind AS- rb {mo o$ogd cdo$$d doc:&Go3oo. c'5 ej u

T Ltd. has purchased an equipment for its manufacturing unit. The
price paid f'or the equipment is t 2,20,000 inclusive of GST of < 39,600.
'l'he companv gets a credit of GST while caiculating tax payable on
tlnished goocls so1d.
T'he additional cost incurred are :

Freight T 4,500/-
Customs duty { 4,OOO l-
Instailation expenses { 3,000/-
Estirnated cost of dismantling and removing the item would be { 1,500/-
After the equipment was put into use ( 11,000/- was spent for cleaning
the spare parts.
Calculate the cost of PPE as per Ind AS-16.
trxcel Ltd. dcilAc$ .,rdCs: ddd${ Eod>&GotoO.
(i) { I 8"oe#, de. B xoe.:d€dd Crne;d d"d{ dodennd te. edd cde

1n--?+-;a? O Q J
1U rJilF liV-.

(ii) t 3 d.oeo3 10 ilCrd* rDBr Fosd d:osd d^dd $q ereCd oe. 10 giS
**-r ) Q
w uta (),.

d
(iii) { 3 *raeffi Edoc zorof;&od a:eddd amd drne;d ddd{ a:Qdd de. 10 5is

))-J
c.Jd{r 6,.

(iv) aoe:dgiC doaiE C€ { 15,00,000.
(vi IDBI:noC re.:d d:d: €go$ deao d:e-:* - EDed d:ee3 de. S.

{vi) xae":d$d *d:md8 ge,)ro$dtr - de. 5.
Calculate the borrowing cost of Excel Ltd.
(i) { 8 crores arranged by issuing 8% debentures repayable after

10 yeilrs.
(ii) { 3 crores by a loan from IDBI with 1o years terrn @ interest of

10% P.A.
(iii) { 3 crores overdraft from canara Bank @ interest of 10% p.A.
(iv) Cost of issue of debentures is < 15,00,000/-
{v) Processing and consultancy charges for IDBI loan - soh of loan.
(vi) Debentures are repayable at 5o/o premium.
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aoo3od10. (a) Kavya Ltd. dodooJr 31.03.2019 d drobE dr Esdodod .ad. dod&
2073 d uGc$e eCU eE6-ax sod*:&\ gsJaot.

t
tooe 16,00,000
daso, dfcd$ $OeA 2,00,0009i:
ddd dep^e 3,00,000m

a"9 xnrl# aia3,.r 1,00,000
anC$ dloGC trdEo 40,000.J

dandli:rld udoafd oone d: 1,80,000li:rr-
6q.6ri69 :r3g* ctr5r.i) 1,00,000

J

^- aJ . .- ^J.zJeeBn eroic,r 40,000
4ao,t), iarlzi.
^Jve.rv o;egJu*r 2,00,000

ilC)
i-\?-<- ^--- or. <a9:?69dfi:JO 3J-.* .Jw :!ve,, 50,000
L-.c- -:,e- e,JQ 30,000NG

E3j -95 zJG 30,000
r!d r-,r1.=qev ry.+c 10,000
ldd9 40,000
ereroo$ dori 75,000
sD6o0 iDod 50,000
enod?ined.ds;b 90,000,d

6-o&rord alz$r 60,000
(b) & d$dod d:ob8o3:cd 31.03.2019 doCt dre6-oia doe,g

(dodO 6oo)lC 2013 d gia-od)

-lrSaJr*r {al-qq*YJ*Nd (,\rrreu^J

DEBIT CREDIT
o*r9i org.gJ-99 V4

^J: or!^.J ^-ow'96;J(JC! (JAt
j

^--q !^-Jr^J-
CJ:- V ONclugO/\il{J

J

zE03Xi;. 6.nB5dq)

: 

-!a 

r^J---:!9"c^J9ULJ\.)CJ (J UA-(Og CJ
e)

=!r a A +lal.g..\rt ul,l Ii(,

id& oa;oab
j

NI ICJJ

12,00,00CI

4,00,O00

4,00,000

4,00,000

5,00,000

8,00,000

2,00,000

-l^,i. ^. ^i-.arki(U! a^J U(^9a)J\/

--i-n 
G.A!e).!uNc Nq:r

osol -?-n "-.-?\Jil yJ-CJo* oJrr l,

a.sDCIo$eC do#rnOri

-J ^-9- 6Joo.Jdto|rool)c:r: p1
J

10,00,000

6,00,000

6,00,000

10,00,000

7,00,000

39,00,000 39,oo,00o

P.T.O.
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(a)

16,00,000
7,00.000
3,00,000
1,00,000

40,000
1,80,000
1,00,000

40,000
2,00,000

50,o00
30,000
30,000
10,000
40,000
75,000
50,000
80,o00
60,000

(b) From the following prepare a statement of financial position on 31.03.2019
under companies Act, 2013.

DEBIT aF\ CREDIT

Tangible Assets

Intangible Assets

Current Investments

Other Non - current
Investments

Trade Receirzables

Stock

Cash

12,00,000

4,00,000

4,00,000

4,OO,O0O

5,00,000

8,00,000

2,00,000

Equity share Capital

General Reserve

P&LAlc

Non-curre nt Liabilitie s

Current Liabilities

Lo,o0,0oo

6,OO,0OO

6,OO,0OO

10,00,000

7,00,000

39,0O,OOO 39,00,000

Ililtililil iltiilililil tttiili
Prepare a statement of profit or ioss und.er companies Act. 2013 from
the follou..ing tletails of Kar,ya Ltd. for the vea; e:oed 3i.03.2019"

+\
Sales
Purchase of raw l\{aterials
Commission Received
Carriage Inwards
Returns Outwards
Opening stock of Raw materials
Closing stock of Raw rtraterials
Rent Received
Salaries to Employees
P.F. contribution to Employees
Interest on Bank loan
Interest on Debentures
Sundry expenses
Depreciation
Income tax paid
Excise duty
Consumables
Factory expenses



i lilllltilil il ililt]il il]ilt

dndrooS

< 10 de deodod ded: z;odae$

11. (a) x Ltd. obqy Ltd. 31.03.2Ot9 d deoaols do:6.9 dr *eJdodod rd :

OL.O4.2OL8 docb sodod, 0e
o1.o4.2o18 eroepd ge.:r,

2018-19 ddrd OdS enzJ

zroO d.odnoori

g:lrl$c
j

:rd eJxrrt$J
AJ
30,ooo Y Ltd.

ded:rl$Q droc#
Bdd: oosod>

J

i e LId. d engd &e.:r* 01.04.2018 oo* ffir- *offi2ole docr>
P Ltd, Q Ltd. S de&ned:* $o€o&d. 

' r

Oo3:o$mo sn{d:ab* dod:b@olro.

E60F60 to,o0r006
doC&o$ de&rl$abo $oea,lrd. eaddd

R,e. & Esdododg)

gmdo66 ggg

x Otu€,3c" OL.OZ.2018 dod: y Oeot^3@r

x Ltd.

10,oo,0oo

3,00,o00

1,00,0O0

. 4,00,00o

1,00,000

-

19,00,o00
-lllilllll--

8,0o,000

6,00,000

3,00,000

2,00,0o0

P Ltd-

16,O0,000

90,000

4,00,000

2,90,000

E60FOO

8,00,000

8,00,000

7,60,000

Y Ltd.

4,00,O00

1,OO,0OO

40,000

3,0O,000

1,60,000

-

10,00,000

4,00,000

2,OO,OOO

4,00,000

Q Ltd.

8,00,000

1,20,000

3,20,000

3,20,0O0

11,20,000

4,4O,00O

cN-341

e"$ddd &oi8oS:$o dod>&6o9oo.

(b) P OturiGf
B&dd :

d.odreoi

dedr uodao$ (t 10 de ded:;
OL.O4.2OL8 Eodmd, &e ,

eneJd 9e-rr

aoO dodrrooE
J

eJ,tri9:
J

o$o9 d>6 eruCEdeo

Q Ltd. d 60,000 ded;rl$el dJoGdm

ayoO erlrlq;ic
JJ

d>q a e)tur3dd$ 31.03.2019 d deoro$ do

P.T.O.
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(e) Th..' . \yere

8

statement of financial position of X Ltd. & y Ltd.
as follows :

Liabilities x Ltd.

10,00,000

3,00,000
1,00,000
4,0o,000
1,00,000

E-rpFoo

8,00,000

6,00,000
3,00,000
2,0o,000

ie-F0Ib6
X Ltd. purchased the shares of Y Ltd. on 01.07.2018. Calculate the
non-controlling interest.

(b) The following are the Balance sheets of p Ltd. & e Ltd. as on 31.03.2019.

Shares of t 10 Each
General Reserve on O1.O4.2OLB

P & L A/c on 01.04.2018
Profit for the year 2018-19
Current Liabilities

Assets
Fixed Assets
Investments in 30,000
shares of Y Ltd.
Stock
Bank Balance

Liabilities

Share Capital of t 10 shares
Reserves on O1.O4.2OI8
P&LAlc
Current Liabilities

Assets
Plant & Equipment
Investment in shares of Q Ltd.

[60,000 shares]
Current Assets

P LJd.

16,OG,OOO

80,oo0
4,00,000
2,80,000

23,60,000

8,Q0;000

8,0o,0Q0

7,60,000

Y Ltd.

4,00,000
1,00,000

40,000
3,00,000
1,60,000

EFOIOO

4,00,000

2,00,000
4,0o,o00

ETbEb

Q Ltd.

8,00,000
1,20,000

3,2O,000

3,20,000
15,60,000

11,20,O00

4,4O,OOO

23,60,000 15,60,000

i F-& T A/g. of Q Ltd. stood atT t,2o,ooo/- on 01.04.2018 p Ltd. acquired
shpres of Q Ltd. on 01.01.2019.
palculg.te the controlling Interest.

Itililililil]il ililt]iltil]ilt

as on 31.03.2019

-eQo-
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Vl Semester B.Com. Examination, May/June 2018
(2014-15 and Onwards) (Repeaters)

Paper - 6.6 : Elective Paper - lv : AccouNTlNG FoR BUSINESS
DECI SIO NS/I FHS/R E PO RTI NG

Time : 3 Hours Max. Marks : 100

lnstruction : Answer should be written either completely in English or
Kannada.

SECTION _ A

Answer any ten of the following sub-questions. Each sub-question carries
two marks. (10x2=e0)

1. a) What do you mean by margin of safety ?

b) State any two differences between absorption costing and marginal costing.

c) State any two uses of profit volume ratio.

d) Give the meaning of labour idle time.

e) State any two objectives of IFRS

f) Expand: lFFIS, IASB.

g) State the uses of Corporate Financial Reporting.

h) Mention any 2 users of Corporate Financial Reporting.

i) What do you mean by master budget ?

j) What is material cost variance ?

k) What is cash budget ?

l) Calculate BEP. lf selling price { 10, variable cost 8, fixed cost { 1,00,000.

SECTION _ B

Answer any four of the following questions. Each question carries 8 marks. (8x4=g!)

2. Briefly explain the steps involved in budgetary control.

3. Mention the objectives of the Corporate Financial Reporting.

P.T.O.
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From the following data relating to X Company.
Calculate :

a) Fixed cost

b) Break even point in units
c) Sale required to earn a profit of t 40,000.

Years Totat sale Profit (t)

10,000

Material

Labour

Variable Overhead

Fixed overhead (1 0OOOO)

-2- Ifi]illtililtlllilffiiltilIiltil

4.

2016 8,00,000

2017 10,oo,o0o

From the following information compute all material variance.
Standard Quantity of materials per unit 6 kgs.
Standard Price per kg of materials t 40.
Actual production 1000 units.

Materials actually used 7000 kgs.

Actual purchase price of material per kg T 45.

The expenses for the production of 10000 units in factory are given as folows :

Particulars - Amount per Unit

t
40

20

20

10
Administration overhead (I0% variable) 1O

Loss (T)

20,00:

5.

6.

Selling overhead (SOo/o variable)

Distribution overhea d (4oo/o fixed)
Total cost

't0

10

120
Prepare Flexibre budget for the production of 20000 units.
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SECTION - C

Answer any three of the following questions. Each question carries
16 marks. (3x16-48)

7. A manufacturing company is expecting to have t 25,OOO cash in hand on

1-4-2017 and it requested you to prepare cash budget for the three months,

April to June 2017.

The following information supplied to you

Month Sales (t) Purchase (t) Wages (t) Expenses ({)

February 70,OOO 30,000 4,000 3,000

March 80,000 36,000 6,000 3,000

April 96,000 30,000 6,000 3,000

May 50,000 40,000 6,000 5,000

June 60,000 36,000 8,000 5,000

Other lnformation :

a) Period of credit allowed by supplier is two months-

b) 50% of sales are for cash and the period of credit allowed to customers
is one month.

c) Delay in payment of wages and expenses is one month.

d) lncome tax t 20,000 is to be paid in June 2017.

e) Advance cash received from customer t 50,000 in April 2017 and
May 2017 { 1O,0OO.

8. From the following particulars calculate :

a) PA/ Ratio,

b) Break even point

c) Margin of safety

d) Sales required to earn profit of t 3,00,000.

e) Variable cost

0 Fixed cost

g) Profit when sales are t 10,00,000.

Year Sales (t) Total Cost (t)

2016 12,00,000 10,00,000

2017 15,00,000 13,00,000
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I' The following information .regarding weekly wage rates of tabour forceengaged on a job scheduled to be completed on 30 weeks are as follows :

Standard Actual
Details No. of Weekly No. of Weeklyworkers wages per workers rate perworker worker

Skilled 75 t 60 TO t 70
Semi-skiiled 45 t 40 gO t 50
Unskilled 60 t B0 B0 t 20
The work was completed in 32 weeks, calculate various tabour variance.

10' The expenses budgeted for production loooo units in a facto ry arefurnishedbelow :

Particulars per Unit (T)
Materials 70
Labour Zs
Variable overheads 20
Fixed overhead (t 1,00,000) 10
Variable expenses (Direct) , 5
Selling expenses pA% variable) ,, ,, 1g
Distribution expenses (40% fixed) 7
Administration expenses ({ 50,000) S

Total 155
Prepare a budget for the production of
a) 8000 units

b) 6000 units.

Assume the Administration expenses are rigid for alt tevels of production.
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v semester ts.com. Exam,"#f November/December 2018
(CBCS) (2016 - 1z & Onwards) (F+R)

COMMERCE
5.2 : lnternational Financial Reporting Standards

Time : 3 Hours Max. Marks : 70

lnstruction : Answer shouid be completely either in English or Kannada.

SECTION _ A

Answer any five sub-questions. Each sub-question carries two marks. (5x2=10)

1. a) What do you mean by Accounting Standards ?

b) What is lnvestment Property Accordance to Ind. AS - 40 ?

c) What are non-current assets ? Give two examples.

d) What is subsidiary ?

e) What do you mean by related party disctosure ? -{':

f) What do you mean by unrealised profit ?

g) What is event after the Reporting period as per lnd. AS - 1O ?

SECTION - B

Answer any three questions. Each question carries six marks.

2. List of any nine IFRS issued by IASB.

3. Mention the Iist of close members of the family as per lnd. AS - 24.

(3x6=18)

4. Ganesh Ltd. ordered a laptop in flip kart. The price of laptop is t 40,000,
allowed 10% discount at time of purchase and charged 18% GST which is not
refundable. Shipping charges T 500, software installation charges { 3,000 and
annual service charges t 3,000. Calculate the initial cost of laptop and give
reasons as per lnd. AS - 16.

P.T.O.
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Iillllli*,i,,,ilil,rilrilr5' Harsha Ltd', 
- 
acquires ,0* 

^:l^, ]1" equity. .shares of Meena Ltd., on1'r January 2012. on rrit oui"l paid up .upiiii'6r M""ni_t;:, ;;: 1 o,oo0 equityshares of 10 each; accumuraied reserva 6"iu*" was { 1,00,000. Harsha Ltd.,paid t 1'60'000 to acquire s 70% interest-in il'.,* rrrr".na Ltd., Assets of MeenaLtd., were revarued on 01 -oi-zo1? anda r"ratration ross of T 20,000 wasascertained. Calculate the ,rir. of gooJwill.
6' From the following particulars XYZ co., prepare a statement of p/L for the yearended 31'r,arc6,'201 d;;;, s.hil;i;TrT'Jrbornpanies Act, 201 3.Particulars

Revenue from operations Amount (t)
cost of Materiar consumed 39,ooo

other rncome 24,soa

Changes in inventory
Changes in WIp
Finance Cost
Employees Benefit
Depreciation and amortisation
Other Expenses
lncome Tax expenses
Non-Controllin g interest

SECTION - C
Answer any three questions. Each question carries fourteen marks. @x14=42)7' a) Briefry exprain the discrosures of Eps - rnd. AS _ 33.o)3'"fl'Ji3fiXS.'""J",Yflff 

B,:?1lilfll?llt;.;til^:,,,,1p/g3entationorconversence
B' 4 

iffi:["J_,?3ul,.crosure requirements of operatins segments under
b) state the needs and objectives of Accounting standards.

9' ') ItTlt:d' 
was taken Machinery on lease from y Limited, the information is

Lease term 4 yrs, fair varue at inception of rease t 20,00,000, rease rentt o,2s,oo, p.a. at the end of yerr, gr;*ni""o residuar ,urr" T 1,2s,000,
;lfrTl?ti3:tXg XlHfrJ,,zs,ooo, 

iirpri.iilrterest rate 1 s.^ c^t"urate the
Discount rate at 1lyo.Year :

6,000
2,500
1,500
1,000
2,000
3,000

500
1,200
4,000

234
0.7561 0.6575 0.5718

Present vatue : 0.8696
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b) From the following details prepare others Comprehensive lncome for the

year ended 31.t March,201B of ABC Ltd.

Particulars

Gains on property revaluation

Losses on investment in Equity lnstruments
Remeasurement losses on defined pension

plans

Share of gain on property revaluation

lncome tax related to items that will not be

reclassified

Items that may be reclassified subsequenily to
profit or loss :

Exchange difference on translating foreign
operations

Cash flow ledger

lncome tax relating to items that may be
reclassified

Profit for the year

Controlling interest (Owners)

Amount (T)

12,000

22,000

600

1,000

5,000

3,000

600

2,000

50,000

39,000

10' a) PQR Co. constructing power generation plant. This project requires totalty
12 crores, which are raised as follows.

a) t 4 crores from lFCl for 10 years @ 117o interest rate.
b) { 2 crores of loan from HDFC bank for 6 years @ 10% interest rate.
c) t 2 crores of loan from SBI bank lor 4 years @ 1 2o/o interest rate.
d) T 3 crores f rom 10% debentures for 5 years @ s% discount.
e) T 1 crore as overdraft from corporation bank @ 4% interest rate.
f) Out of total borrowed fund t 5 crores are kept in HUDCO bank as short

term deposit for 6 months @ So/o rale.
g) lFCl bank loan is borrowed through consultation and the consultancy

charges are 2/" of total loan amount.
calculate total borrowing cost accordance with lnd. AS _ 29.
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b) from the foilowing Triat t' 
s o F p;s p e r r n o'ns'r i :ru?[:il,r"y13""; b:* i"1.A"J] 3i ir;ffi B, p re p a re

Debit Trial Balance
Amount Credit
T 

;..rrr Amount
Tprant propefiy Equipment g,gg,goo Equity share capitar 5,00,000lntangible assets S,OO,OOO Clpi,rf redemption

current investments 
],99,000 NJ:ff[;t liabitities ,,8B;BBBOther non_current assets 2,00,000 p and L a/clnventories -';;':X: , arru L uc 4o,ooo

Trade receivabtes ,,33;333 
current liabilities 6,00,000

Cash and Cash equivalents 4,00,000Total 1g,g0,000 Total
' ' a) 

i'ifti?$i#""'"1'?;:ino"o3o,,ilHy;l'"T".'n3l,t"??f,yft,iJ.'lhi'.,81
Assets
Land and Buitdings H Ltd' s Ltd.
rnvestments : shlres or s Ltd. I;BB;BBB 4,s0,000
Sundry Debtors "'YY,YYUlnventbries 5o,ooo 60,000
B/R 75,000 

5O,OOO

cash 40,000 5,Ooo
Total 2,5o,ooo 1,60,000

Equity and Liabirities 14'15'000 7,25,000
Equiti share capiral (r 100) ,9,#,flt u,o?,bftF,i'fflI;:,T"'1t'-+'t-i1' ''0?'999 t,oo,ooo

5;.1TTJ:3,,'3,.:*ar(201r-18) ,33;333 ff;333
Total 65,000 55,000
carcurate NCr and Goodwiil / capitar *#;lrl;1" z,2s,ooo

o) 

ii:ffi'lilJ"1o#'3i ui."J.?si rffir::1$,i,3", pany on 1 . 4.2o 1 7 rh e
Assets
Sundry Assets
lnvestments : share in B Ltd.
Total

A Ltd.
4,30,000
2,70,000
7,00,000

B Ltd.
4,00,000

4,00,000
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Equity and Liabilities
Shares Capital
Share of t10 each
General reserues
P and L alc
Sundry Creditors
Total

5,00,000
1,00,000

50,000
50,000

7,00,000

3,00,000
50,000
25,000
25,000

4,00,000
From the above Balance sheet calculate capital Reserve.

--- ^ ^-) s-'l* -:,1:
lq'orl - o

olndlaaddo cc$ r;=-5i5+ri wgoi. go wd-$d;i od* erodrlsb.

1. a) ud.nz s-=:= ;:=Jed> ?
b) lnd. AS - 40.5-d d.ecd et,l codded: ?
c) =.J i._al;g: ;:3de$ ? add: eruoadd# doc.--d) =:.,..=.::=::i: ?
a\ == -^-.1 -. .vt *: ^.-*_* =Jc#dd; aodded: ?
f) ;.:::= :-:i;:5ded: ?
g) tnJ. nS - 10d d-d dda edeo$ doddd #Bddsb "rodded> ?

(5x2=10)

aqrod - e.g

odndocfio dlJo$ ddJe,i eru$ol ds ddf" qr& eodrlq;b. (sx6=lg)
2- erodoE.eoJ, dd* ddrr abodpot Oeadd obdloaddo uor^ld> lFRsdtdt^l

3. lnd. AS - 24 d dod *uuoud cdol dd{d ir^flos:d1erue3_ea)&.

4. d#ey i;:*':r:Ji& ora"[rcf erd: cpaftEtf r d:ne.:d eideg:oaa!. e4a"ooer ddd)
d,r. 40.ooor'- =nq t oz oon*"E t"*ud lab*:e{ecb^a$Qat 1 g% d.d5e.t^3.qdii $=:==3 a$dae-r. dd& d:e.r* d.,i. 500, rrq5eu"sa^dd *6ri* drD. g.ooo

*{ ^=*i= 
rsD *,.- # s.,ooo: .iril;i ;i$;;qS{ ;Xr;;."5*

lnd. AS - 1o d d-d uedmriddlse&."

5. 1de addo 2012 docb A)e6ro otuuJcs'd 70% saCnd. de&dd$ ddr OtuEcr
T*?€ddc:.e.t:ed:$d. D:eoa oturrc'd aadex,d uodabd d/0. 1 odi o,ooo xadnd"
ded;rlsc, i:rldmd a;eder: e,rJgd dJo. 1,oo,oo0. A)edrJ otu[,sc"d z0z uaood3
rldQr.jdGi6ve:> ddr etugcr dre. 1,6o,ooorldi$ mde:rd. i-i:i;7;3
a)e6rr e.):rri, ytldq d;d&xeddrtoqderond:, ** d)ddr%eddd d{B
d-o. 2o,oo0 .:cd: $*dda},*-. te.af*pe.r, deJoJ:d>-doa, daoio. 

-

a.-: 1
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6. ooaod3l -03-201 8d erod^d, XyZ dodp$ eat,J .i{d d:{os:dldodeor; aoo3:,.2013ddd^rrf llldod dobo:,. u "
^iJ*)"l.Wc^J\.rr l\ J

drdoadood uod senol:
;oabldd erudClo erid d4.
"add e:erJo$
ocmd: zodend#rld:-,
WIP udendddd.:
dmua,r,d d{
de-rinadd erczj

iddp ab* erdn{rdedo"
"add dzfldd.>

saao$ dori dairldc
&oJood,raE z.dddd zra-)Trc

(3x14=421

r1"g (t)
39,000
24,500

6,000
2,500
1,500
1,000
2,000
3,000

500
1,200
4,000

otngocddJo dlJocb dd3ed wgo,r,. ffil;14 esodridc.

7. a) lnd. AS - g3 Epsd $du^l#dddlioffiamn Ddo:,.

b) z'adoeo$ dd* {C>ead (lnd. AS) drod IFRSd ed:aaxid z.rLoaiocdob edad
d;$ iaawAOS:*a*o,r,) o 

^

B. a) lnd. AS - 10Bd uacnrziddo$ qaddd uddrddo$ {dr^l#dddlweJ_esD&.
b) o{$d>ead eddrdd ofe *drddddle+,1.

9. a) x &d)tud dodco:l y &o$.)rd dod&ouod oJ:od,dd: 2;oed^d, ddd:dooa&dd.
*Eb8d$bdddodogd. - {' ot r
?,i,oedd ede a ddrrldc, r1irnedd udoed qo3oezsd dfae-r, dro. 2o,oo,ooo, dEddrd uodrd* ejri zroGri dra. 6,2s,000, ando erueod:d 
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V Semester B.Com. Examination, Nov./Dec. 2016
(CBCS) (Fresh) (2016-17 and Onwards)

COMMERCE
Paper - 5.2 : lnternational Financiar Reporting standards

Time : 3 Hours Max. Marks : 70

lnstruction : Answers should be written either in English or Kannada.

SECTION * A

Answer any five sub-questions from the following. Each sub-question carries
2 marks. (5x2=10)

1. a) Mention 2 objectives of LF.R.S.
b) Expand l.A.S.B. and G.A.A.p.
c) What is investment property as per lnd AS - 40 ?
d) What are Govt. Grants ?

e) What do you mean by the term inventories ?
f ) Give the meaning of events after the reporting period.
g) What are accounting policies ?

SECTION - B

Answerany 3 of the following, each question carries 6 marks. (3x6=18)

2. Briefly explain the merits of l.F.R.S.

3. Mention the list of close members of the family as per lnd AS-24.

4. Veena Traders purchased a plant from Sujay Ltd. 30-9-201S with a quoted price
of Rs' 200 lakhs. Sujay Ltd. offer 3 months credit with a condition that discount
of 1.5% will be allowed if the payment were made with in one month. VAT is 14%
on the quoted price. Company incurred 2/o on transportation cost and 3% on
erection cost of the quoted price. Pre operative cost amounted to Rs. 2 lakhs.
Estimated life of the plant is B years.
Residual value of the plant 20 lakhs.
a) Calculate the original cost of the plant.
b) Carrying amount of the plant on 31-3-2016.

P.T.O.
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5. You are given the following extracts of LedgerBalances taken from Shankar Ltd.
for the year ending 31-3-2016 prepare a statement of p/L.
Revenue f rom operations
Other income
Advertising
Salaries
Depreciation
lnsurance
lnterest on debentures
Preliminary exp. written off
Bad debts
Discount
Printing and stationery
Cost of materials consumed

7. A)

B)

B. A)
B)

e. A)

Briefly explain the scope, recognition criteria and disclosure requirements of
provisions and contingent liabilities as per lnd AS _gT.
Give the list of any 15 lnd AS issued by ministry of corporate affairs.

what is a interim financial report ? what are disclosure requirements ?
Briefly explain the scope and disclosure requirements of lntangible assets as
per lnd AS - 38.

From the following Trial Balance of Reddy prepare statement of financial
position of the company as on 31-3-2016.
Debit
Cash at bank
Non current assets
Non current investments
Land and building
Furniture

Rs. Credit Rs.

-2-

98,000
2,000
5,250

27,000
2,800
1,000
1,000
1,000

500
500

1,000
25,000

6. H Ltd. acquired 75"/" of the shares of 'S' Ltd. on 31-7-1S and earned a profit of
Rs. 67,500 for the year ending 31-3-2016.
The face value of shares of 's' Ltd. is Rs. 10 per share.
The'S'Ltd. had a balance of Rs. g2,s0o in p/L A/c as on 31-3-2016 and
Rs. 1,05,000 in General Reserve.
Calculate the non controlling interest.

SECTION _ C

Answer any three of the foilowing, each question carries 14 marks. (3x14=42)

1,50,000 Equity share capital 2,50,000
1,00,000 Reserves and surplus SO,O0O

50,000 Non-current liabilities 4,0O,OOO

4,00,000 Current liabilities 1,0O,OOO

1,00,000 Staff provident fund 1,00,000
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Office equipment
Goodwill
Stock
Trade receivables

lnterest on Debentures
Travelling Expenses
Delivery Van Expenses
Bad debts
Discount
Purchases
Opening stock
Freight charges
Depreciation
lnsurance
Commission Received
Sales
Share Transfer Fees

B) Ashok Ltd. took a loan of Euros 5000 on 1't April 2015 forthe purpose of

setting up a new subsidiary. The company took a loan at an interest rate of

5% p.a. payable annually. On 1 April 2015 the exchange rate was determined
at Rs. 60 per Euro. The exchange rate on 31-3-2016 stood at Rs. 65 per Euro.

The amount corresponding could have also been borrowed all2'/" p.a. in the

local currency on 1 -4-2015.

Calculate:
a) Borrowing cost.
b) lncrease in the liability towards the principal amount.
c) Exchange rate difference accounted.

NS - 437

50,000 Deposits from Public 1,00,000

1,00,000 Preference caPital 2,50,000

2,00,000
1,00,000

12,50,000 12,50,000

B) Calculate the Non-controlling interest from the following :

Geetha Ltd. acquiredTS"/" of equity shares in Seetha Ltd. on 1-7-2015' The

following balances are extracted from the financial position of Seetha Ltd. as

on 31-3-2016.
1) Share Capital

20000 equitY shares of Rs. 10 each
2) Balances as on 1-4-2015

General Reserve 70,000

Profit and Loss A/c 55,000

3) Net profit for the Year
ending 31.3.2016 Rs. 45,000

10. A) From the following balances of Kumar Co. Ltd. as on 31 -3-2016, prepare a

statement of PiL.
Rs.

32,400
15,000
5,000
6,000
7,000

3,15,000
75,000

8,000
25,000

5,000
7,500

6,50,000
5,000
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1 1 ' A) Ravi Ltd' purchased a equipment" for its company the price paid for the equipmentis 2,50,000 inclusive of value added tax of Rs. 60,000. The entity gets a creditof VAT whire carcurating the tax payabre on the finished gooos sord.
Additional cost incurred are
Freight Rs. 1O,OOO customs duty Rs. B,0OO
lnstallation Expenses of Fls. S,000
The estimate of dismantling and removing the item would be Rs. s,0oo
After the equipment was put to use Rs. 5,000 was spent on cleaning thespare parts.

calculate the cost of the asset according to rnd AS * 16.
B) Sri Ram Ltd' purchased a machine costing Rs. 40,00,000 on 1o-01-2015. Thecompany received grants from the govt. to the extent of s0% of the assetscost' The products are to be supplied to the govt. upto the extent of b0% of
" 

th_" production and at a price wlrich is 2}%betow the average mart<et price.
Average market price of The capacity utilisation of the

the product machine in 7oYear Price
2015 37.5
2016 N
2017 42.5

2018 t$
20't9 47.5

The production capacity is 1 lakh units per annum.
Calculate the (a) Revenue subsidy (b) Gain from grants.

Year o/" capacity utilisation
2015 50%
2016 50% \

2017 60%
2018 70%
2019 BO%


